S.IP.06.11

A student noticed that a puddle that was on the sidewalk one day was gone the next.  What scientific question could he investigate experimentally to learn more about what he observed?

A.
Is evaporation caused by kinetic or potential energy?  
B.
Does water evaporate more quickly in the sun or shade?
C.
How much did the water in the puddle weigh before it evaporated?
D.
What phase of the water cycle is represented by the puddle’s disappearance?
S.IP.06.11

The owner of a grocery store wants to sell the variety of lettuce that stays fresh the longest.  What scientific question could he investigate experimentally to help make his selection?

A.
Does lettuce grow mold more quickly in the sun or shade?  
B.
Does romaine lettuce or iceberg lettuce cost less per pound?
C.
Does romaine lettuce or iceberg lettuce to become limp more quickly?
D.
Does an average head of romaine lettuce or iceberg lettuce weigh more?
S.IP.06.12

Which experiment would determine whether heat influences the rate of evaporation?

A.
Pouring two identical containers of water on a desk
B.
Placing the same amount of water into a wide bowl and a narrow cup
C.
Placing a container of water on a desk and an identical one under a light bulb
D.
Boiling identical containers of plain water and water containing red food coloring  
S.IP.06.16

The graph below represents the amount of time it took various substances to melt when placed in a pie pan on a hot burner.
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According to the graph, which substance melted the fastest?

A.
Butter
B.
Gelatin
C.
Ice cube
D.
Ice cream
L.OL.06.51

A cow gets energy from eating grasses, corn, and soybeans.  Which of the following correctly describes a cow?

A.
Consumer
B.
Decomposer
C.
Predator
D.
Producer
L.OL.06.51

How does a producer obtain energy?

A.
It releases chemicals into the soil and water in order to break down its food.
B.
It traps light energy in order to make food and supply its own energy needs.
C.
It uses plants and animals as well as animal waste products as its source of energy.
D.
It acquires energy directly from another organism by eating it or being a parasite on or in it.
L.OL.06.52

Which of the following is an example of decomposers obtaining energy?

A.
Ladybugs eating aphids
B.
Wolves hunting a moose
C.
Bacteria digesting animal waste
D.
Mosquitoes sucking blood from humans
L.EC.06.11

Which of the following is a population from the Great Lakes region?

A.
Zebra mussels in Lake Huron
B.
Forests in the Upper Peninsula
C.
Many types of fish in Lake Michigan
D.
Squirrels, blue birds, and worms in a suburban park
L.EC.06.11

A student makes the following list of things she sees in her backyard:  squirrels, birds, worms, trees, and flowers.  What does this list describe?

A.
A biome
B.
A population
C.
An ecosystem
D.
A community
L.EC.06.21

Which is an example of competition in a Michigan ecosystem?

A.
A bat eating mosquitoes
B.
A rabbit and a deer eating grass
C.
A cow-bird laying an egg in another bird’s nest
D.
A raccoon and a wood pecker living in hollow trees
L.EC.06.21

Which is an example of a predator-prey relationship found in a Michigan ecosystem?

A.
Rabbit-grass
B.
Robin-worm
C.
Shark-sardine
D.
Mosquito-human
L.EC.06.21

A sea lamprey attaches to a living fish, drills through the scales and skin with its rough tongue, and feeds on the fish’s body fluids, often killing the fish.  This is an example of what type of relationship?

A.
Mutualism
B.
Parasitism
C.
Competition
D.
Predator-prey
L.EC.06.22

How can honeybees and lilies be mutually beneficial?

A.
Honeybees pollinate many types of flowers, including lilies.
B.
Honeybees get nectar from lilies, and lilies are pollinated by honeybees.
C.
Honeybees are used to make honey, and lilies are used to make bouquets.  
D.
Honeybees find nectar and lilies find the right amount of sunlight near woods.
L.EC.06.23

Coyotes eat rabbits.  Rabbits eat clover.  What would most likely happen if the population of coyotes decreases?

A.
The populations of rabbits and clover both decrease.
B.
The populations of rabbits and clover both increase.
C.
The population of rabbits increases, and the population of clover decreases.
D.
The population of rabbits decreases, and the population of clover increases.
L.EC.06.23

[image: image1.emf]The diagram below represents the food web in a Michigan forest ecosystem.

What could cause the plant population in the food web to decrease?

A.
An increase in the fox population
B.
An increase in the deer population
C.
A decrease in the rabbit population
D.
A decrease in the mouse population
L.EC.06.23

[image: image2..pict]The diagram below represents the food web in a Michigan forest ecosystem.

Which of the following could happen if the fox population increases?

A.
The mouse population increases.
B.
The rabbit population decreases.
C.
The plant population decreases.
D.
The deer population decreases.
L.EC.06.31

Maple, oak, and pine trees block much of the sunlight in the forest.  Deer, mice, and rabbits drink from the river that flows through and eat the grass that pokes up from the soil.  Which list includes only abiotic components of this ecosystem?

A.
Animals, grass, and trees
B.
Deer, mice, and rabbits
C.
Maple, oak, and pine trees
D.
River, soil, and sunlight
L.EC.06.32

Which of the following would cause the cattail population in a wetland to change?

A.
A summer rainstorm
B.
Humans kayaking and canoeing
C.
The migration of ducks as the seasons change
D.
The introduction of a competitive invasive species
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